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In electromagnetic waves the phase
difference between electric field vector
and magnetic fled vector is

(A) zero

(8) n/2

(C) n

(D) =/3

The equation I_fIEd\' '.“-.QIII rep-

resents the mathematical form of

—_—

(A) Coulomb's law

{B) Gauss's law

(C) Ampere's law

(D) Biot Savart law

T';ie magnetic feld at a distance d from
a short bar magnet in longitudinal and
transverse position are in the ratlo:
(A) 1:1
(8) 2:3
(C) 2:1

(D) 3:2

244\B12021
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m;ﬂuﬂﬂhmh%#
mmaﬂuaﬁamt

(A) zero

(B) /2

(C) n

(D) w/3

mﬁmwlfﬁd.s .‘ﬂ'lbrﬁlﬁumd
zvfen &)

(A) goma 3 Fram

(8) Hx = ram
(C) oo m Pram
(D) wrav Wt Pram

oY 8% g% ¥ d 78 W et 3R
T RT S —

(A) 1:1

(8) 2:3

(C) 2:1

(D) 3:2
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for?

(A) Light Absorption by Stimulated

Emission of Radiation
(8) ught Ampiification by Sponta-

Neous Emission of Radiation

(C) ught Alteration by Spontaneous

Emission of Radiation

(D) ught Amplification by Stimulated

Emission of Radiation

Which scientist first came up with the
idea of stimulated emission?

(A) Alexander Graham Beli

(B) Albert Einstein

(C) Arthur Schalow
(D) Isaac Newton

Which color of light has the shortest

wavelength?
(A) Yellow
(B) Red
{C) Blue

(D) Green

244\B\2021

6.

() R 5 @ IO I T
3R

(8) R & HES IHH TN T wey

(C) Rt & w3 =F TR wEm
Rk

(D) Rfd=w & 3B =3 TR

s

mmmmm&amﬁm
A Ry a7
(A) mmh

(B) 3wt mmwdm
(C) 3R o)
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Crefvfn & & B FEm dfm e

optical pumping? samor &7

(A) Dye laser (A) !Tlfl‘\ﬂ?

(B) Helium-Neon laser (8) ®fdram-Fraf AR
(C) Semiconductor laser (C) iR A
(D) Ruby laser (D) =@ AW

8. Which of the following Is a unique g mﬁam-manaﬁﬁuﬂw

property of laser? t?
(A) Coherence (A) qom
(B) Speed (8) TRy
(C) Directional (C) R
(D) Wavelength (D) Wl
9. Nd-YAG laser is a 9. Nd-YAG 33K &I
(A) Two level laser (A) @ =g R
(8) Four level laser (8) WR Wk &R
(C) Three level laser (C) &= wrihg AR
(D) Five level laser (D) e wRG AR
10. The pumping source in He-Ne laser 10. He-Ne 3R & ufthy divs e 7
(A) Electnc discharge (A) fegm Pedem
(8) Optical (B) wriftes
(C) Chemical (C) Tl
(D) Mechanical (D) uifies
244\8\2021
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11 The ratio of He to Ne in He-Ne laser 11.
(A) 110
(B) 10:8
(C) 10:1
(D) 1:8
12. The image produced by holography 12

(A) 1-Dimensional
(8) 2-Dimensional
(C) 4-Dimensional
(D) 3-Dimensional
13. The information carry capacity of ho-

logram is

(B) equal to an ordinary photograph

(C) More than an ordinary photo-

oo duljuoneIqp mmm,//:sdny

graph

(D) None of the above

14. A hologram contains information of .

the object about
(A) Phase only
(B) Amplitude only
(C) Phase and Amplitude both

(D) None of the above

(A) less than an ordinary photograph 1%

Wi
Hc-NeMﬁHeﬂneﬁyw

(A) 1:10
(B) 10:8

(C) 10:1

(D) 1:8
— R R
v &7

(A) 1-3maed

(8) 2-3mamh

(C) a-3mamd

(D) 3-Fwrd

gl & g 3w e &0 @ &2
(A) = umrg aWR A 39

(B) T WORY ;R & WK

(C) oAM= AR A e

(D) IRes 3 | wf kt

O Wem A a9 & W A v www A
B Rt &2

(A) o =

(B) & 3mam

(C) =on AR Imam 2

(D) IRes & | B

ral .
https:// www.&arauonl_m_e.com

oo surjuoneIgp mmm//:sdny



https://www.dbrauonline.com
15 He-Ne SR A W LI e 42

15 The active medium (n He-Ne laser IS
(A) Ne
(B) He
(C) Me and Ne both
(D) All of the above
16. Uight has a wavelength of 600 nm in
a vacuum. It passes into glass, which
has an Index of refraction of 1.50.
What is the wavelength of the light In
the glass?
{A) 600 nm
{B) 400 nm
(C) 500 nm
(D) 300 nm
17. Two light sources are said to be coher-
ent if they

(A) are of the same frequency.

oo duljuoneIqp mmm,//:sdny

(B) are of the same frequency and
amplitude.

(C) are of the same amplitude, and
maintain a constant phase differ-
ence

(D) are of the same frequency, and
maintain a constant phase differ-

ence

244\B\2021

(7]

16.

17.

(a) P

(B) @fdvan
(C) fftram 3k Prdta 2

(mmm&
O & wm B woded 600 nm &1

s win & qven &, A oA
quais 1.50 &1 7 R o1 3w B
Fnded g @f?

(A) 600 nm

(B) 400 nm

(C) 500 nm

(D) 300 nm

2 g Wl B e @ Jnen & afe 3

(A) WA g & &)

() e & 3myf 3R sTm & &)

(C) vws & smm & & IR v P

AR W = &

(D) o & 3myf &5 W £ 3tk Preer 3w

LeiRe of

P.T.0.
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vwhat principle 1s responsible for light
spreading as it passes through a nar
row sht?
(A) refraction
(B) polanzation
{C) diffraction
(D) interference
19. The principle which allows a rainbow
to form s
(A) refraction
(B) polarization
(C) total internal reflection
(D) dispersion
20. The polarization 1s possible in
wave
(A) mechanical
(B) longitudinal
(C) water
D) transverse

21. The ray which obeys Snell's law of re-
fraction is known S ____ nay
(A) simpie
(B) extraordinary
(C) ordinary

(D) electnc

[8)

18

18.

1.

;ﬁ ] A7

et et &1
fr g

mmtma‘wwm

¥ @ g & forad aRo §eu
= &
(A) 3uad=

(B) gam
(C) T IR wRada
(D) avt fagmm
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24.

25.
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24. A Nicol prism is made from

crystal

(A) cakite

(B) quartz

(C) topaz

(D) tourmaline

What is the phase difference of the
emerging wave in haif wave plate?

(A) 180°

(B) 270°

(C) 360°

(D) 90°

What is the path difference of the
emerging wave in full wave plate?

{A) N2

(8) »

(C) w3

(D) /4

When two waves are In same phase

then the resultant wave is

polanzed wave

(A) Plane
(B) elliptically
(C) awrcularly

(D) none of the above

244\B\2021
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2. Fowmfim

24.

(9)

(A) STERE

(8) =R
(C) omamx

(D) FXwem

wf win o & TwRA g R T TR I
5

(A) 180°

(B) 270°

(C) 360°

(D) 9¢0°

Fd a A 3wl g A 3 wRR I
&

(A) N2

(8) =

(C) w3

(D) w4

. WA 7 e R T Ah E A Romd

PT.0.
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26. When d=2/2 between the two waves

m-
and amplitudes are equal then the

polarized wave.

sultant wave IS
(A) elliptically
(8) cwcularly
{C) plane

(D) none of the above

27. s 3 device which 1S used to

find whether the light is polanzed or
not polarized
(A) analyzer
(B) polanizer
(C) glass
(D) Polaroid
28. The intensity of transmitted light
through the polarizer is ____ the in-
tensity of incident light.
(A) double
§8) half

{C) equal

(D) zero

244\B\2021

27.

[10)

e s g fsn v # B e e 8
gyl &1

(A) Redes

(B) W%

(C) =

(D) RTEE

9% & wrem A dfa e B S rifis
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29 A wavelength is commonly measured 29 Mt ® amnr Pty 4 W bem

in which one of the following units? gd 2w Fen &2
(A) Radwns (A) Waw

(B) Angstroms (8) eRhA

(C) Electrons volts (C) Wl dve
(D) Seconds (D) ¥wB

30. The phenomenon of diffraction can be 33 firrds R e # Pva Pramfiza w

understood using

o R wew w2
tA) Fresnel (A) PR
(B) Fraunhofer (B) RN
(C) Uncertainty principle (C) Ffgam figm
(D) Huygens principle (D) wwA« Rrgm
31 In Newton's Ring expenments, the di- 3! A & Ima sam & o ama & @™
ameter of dark rings is proportional to FREA e &
(A) Square root of natural number (A) wplens wam & U"‘IH L
(B) Natural Number (B) sy wem &
¢C) Even Natural Number (C) wm wplae w&m &
(D) Odd Natural numbers (D) Rrm wrpfers wam
32. Find the maximum value of resolving 3 5000 o= o A o o 3 ¥ D W
power of a grating 3 cm wide having # Y s = Ftam 7= W@ e,
5000 lines per cm, if the wavelength of R TG W B Tvd sag0 A Y
light used is 5890 A°. (A) 40000
(A) 40000 (8) 4500
(8) 4500
(©) 45000 (C) 45000
(D) 5000 (D) 5000
244812021 (11} PTO.
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33. Second glass plate in Michelson's In-
terferometer is known as
(A) Extra glass plate
(B) Simple Glass Plate
(C) Compensating glass plate
(D) None of these
34. Which of the following does not su-
pport the wave nature of light
(A) Interference
(B8) Polarization
(C) Diffraction
(D) Compton effect
35. Colors in thin Nims are because of
(A) Dispersion
(B) Interference
(C) Compton effect
(D) Diffraction
36. In Micheison's interferometer 100
fringes cross the fleld view when the
movable mirror is displaced through
0.0248 mm.,

Caiculate the wavelength of mono-
chromatic light used

[{A) 5896 A°

(B) 4890 A°

(C) 4000 A°

(D) 5890 A°

(12)

k <]

3.

36.

M@ﬂmqmm n
qgmeEd ¥
o e R e B 0 T d

(A) e o B AT
(B) mmaﬁm

(C) s i B AT
(D) g & B T

B & @ 2 T & A TP B

awda Tl axan &
(A) =fyaRo

(8) qa@
(C) fed=

(D) Bhaz v

weh Rl 3 1 e RO A &

(A) wof Rz

(B) =famo

(C) Thaza qume

(0) Rt

I v o ) 0.0248 ) A AreenRier Ry

e R, wn & o §
m&amnammmmm
wee B wn dvd vy

(A) 5896 A°

(B) 4890 A°

(C) 4000 A°

(D) 5890 A

https://www.dbrauonline.com
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38.

39.

40.
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The walls of a particle in a box are sup~
posedtobe ___

(A) Small but infinitely hard

(B8) Infinitely large but soft

(C) Soft and Small

(D) Infinitely hand and infinitely large
The wave function of the particle lies in
which region?

(A) x>0

(B) x<0

(C) O<x<L

(D) x>L

The Energy of the particle is propor-

tional to

(A) n

(B) n!

(C)

(D) n*?

What is the minimum Energy pos-
sessed by the particle in a box?

(A) Zero

(B) =*h¥/2mL’

(C) =*h?/2mL

(D) x'h/2mL

244\B\2021

7.

40.

[13]

o o 3 i o whew & 3T P e s

(A) o1 A 3 = A WER)

(8) 3w wa A aw AT T

(C) W 3R Bl

(D) Fdm = # BER T AW w A TG

o1 3 A oA i o F @ &2

(A) x>0
(8) x<0
(C) O<x<L

(D) x>L

(D) n

o ¥ A 701 & O JAew S a7

(A) Zero
(B) =‘hi/2ml?
(C) =*h/2mL

D) a?h
(D) =*h/2mL pTO.
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1. The concepl of matter wave was 3U9°
gested by
(A) Heisenberg
+8) de Broghe
(C) Schrodinger
(D) Laplace
42. The photoelectric effect can be under-
stood on the basis of:
(A) wave theory of light only
{B} quantum theory of light only
(C) electromagnetic theory of light
only
(D) None of the above
43. The mass of a moving photon is:
A) hv/c!
(B) hv/c
(C) hv
(D) zero
44. A photon of frequency v has a momen-
tum associated with it. If ¢ is the ve-
locty of hight, this momentum is:
(A) hv/c
(8) hv/c
(C) v/c
(D) hvc

1 '

(14]

4

Q2

43

44,

L
e v ot S

(8) ¥ v 1 e g

(C) v 21 R dra R
(0) FRwe A A B R

o TR Wt &1 e R

(A) hv/c’

(8) hv/c

(C) hv

(D) 0

v 3 & o ot & v WA

o & aR ¢ v o A 2 A gy waAm
wmi

(A) hv/c:
(B) hv/c
(C) vic

(D) hve

https://www.dbrauonline.com
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45 The momentum of a photon having

46.

47.

energy E Is:

(A) E/c

(B) E/cf

(C) E/h

(D) zero

What is the momentt;m of a photon
having frequency 1.5x10''Hz2?

(A) 3.3x10 *kg-m/s

(B) 3.3x10 *kg-m/s
(C) 6.6x10 *kg-m/s
(D) 6.6x10 °kg-m/s

The wavelength of de Broglie waves (s

independent of:

(A) Charge

(B) momentum

(C) velocity

(D) mass
244\8\2021

45. Emmuh?'fﬂiﬂm!l

(A) E/c
(B) E/C’
(C) E/h

(D) O

1.5%10"Hz Jgfh am @ @ wAm
fasern wren &7

(A) 3.3x10 *kg-m/s

(8) 3.3x10 “kg-m/s

(C) 6.6x10 “kg-m/s

(D) 6.6x10 “kg-m/s

& ek ah ) o v Bk R )

(A) Idn W
(B) ¥ W
(C) M w

(D) ™m™ W

P
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o gt o Yo
51 ihequphbemthefrmumd 51 W # " Brven

incigent light and the stopping poten ¥ g | WD i
tial IS &

(A) qIaMa
{A) parabola

(B) A g i
(B) straight line
{C) hyperbola (€) R
(D) crcle (D) ¥

52 The photoelectrons emitted from met- 52  om @ @aw @ saffa GICTgHTRTH 58 9

al surface are such that their velocity ¢t 3 Al
(A) s zero for all (A) i & fow v
(B) is same for all (8) it & e o= &

(C) v 3R e ¥ dre R @

¢C) lies between zero and infinity

(D) lies between zero and a finite (D) T 3 v At wihwan » fra i+

maximum ua

53. Of the following properties, the photon 53 frfafiga i 2 3 o2t & o= =8

does not processes.

(A) rest mass (A) frmRr gEme
(B) momentum (B) ¥am
(C) energy iCy T

(D ¥t

(D) frequency

244\812021 [17]
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>4. The de Broglie wavelength of an elec-
tron in the nth Bohr orbit IS related to
the radius R of the orbit as:
(A) ni=nR
(B) ni=2pR
(C) ni=4pR
(D) None of these
55. The threshold frequency for photoelec-
tric effect of on sodium corresponds to
a wavelength 5000 A°. Its work func-
ton is:
(A) 15 joule
(B8) 10x10-'* joule
AC) 4x10°" joule

(D) 4x10"joule

56. The number of de Broglie waves pres-

ent in the 4th orbit of hydrogen atom
Is:

(A) 2
(8) 4

(C) 8

(D) 6

[18)

s e #udi 5000 A0 ¥ TR &1 ¥
o oo #)

(A) 15 joule

(B) 10x10°* joule

(C) 4x10°*° joule

(D) 4x10* joule

. T ] B A s s &

R sl 2 v
(A) 2
(B) 4
(C) 8

(D) 6

https://www.dbrauonline.com
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57 Ratio of the weight of H-atom to that
of an electron Is approximately
(A) 18.336
(B) 1836
(C) 18360
(D) 183.6

58. Photon of highest frequency will be
absorbed when transition takes place

trom

(A) 1st to Sth orbit
(B) 2nd to 5th orbit
(C) 3rd to Sth orbit
(D) 4th to Sth orbit

59. In hydrogen spectrum which one of
the following series lies in the ultravi-

olet region?
(A) Balmer series
(B) Pfund series
(C) Bracket series
4{D) Lymann series
60. In obtaining an X-ray photograph of
our hand we used the principle of
{A) Photo electric effect
(B) lonization
(C) Shadow photograph

(D) Any of above

244\8\2021

(19]

https://www.dbrauonline.com

57 o g A H-TTET & W e
wman &1
(A) 18.336
(B) 1836
(C) 18360
(D) 183.6

59. wwgvom whagw ¥ Prafhfea # A B @

(D) =R S

80. I T B TAN-Y TR A A ¥ T

R i o1 swdm = &
(A) o fega mvm

(B) iAo

(C) wor

(D) 30w 4 2 g o

https://www.dbrauonline.com
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®1 Excited atoms return to thewr ground
statein
(AY 10 °'s
(BY 10°s
(WY 10°s
(DY 10
62 When we excite some atoms by heat
colision or electnical discharge they
will
(A) Radiate electromagnelic energy
with a continuous distribution of
wavelength
(B8) Absorb particular wavelengths
when white hight Is incident on
them
(C) Radiate electromagnetic energy
of discrete charactenstic wave-
length
(D) Emit erther invisible or visible light
€3 MHydrogen atom does not emit X-rays
because

(A) Its energy levels are too close to

each other

(B) Its energy levels are too far apart

(C) Itis too small in s ze

(D) It has a single electron

a1t

244\B\2021 [20)

L i
awrw 3n @ &

(A) 10's

(8) 10°

qadra 3ot et

(8) fivm i dud @ ke 2 # S
A @ w2 v e g d

(C) e frdreen aveh en 2w & Raege
gaba 3 R st

(D) 3K A1 §¥A TH IAA B

R o] oaw-RARol w3 TR
B & adifs

(A) ¥ 35 ¥R v @Y & aga i 2
B) M wRaga R #

(C) Tr IR A aga vy @

(D) ¥ v vt 8

https://www.dbrauonline.com
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64 Which one of foliowing postulate I8  64.

65.

&

67.

244812021

N accordance with the Rutherford's
model?

(A) Continuous spectra for atoms

(B) Discrete spectra for atoms

(C) Either continuous or discrete

(D) No spectrum

X-ray are 8
(A) Of unknown nature

(B) HMigh energy electrons

(C) High energy photons

(D) Radio 1sotopes

Bracket series is obtained when all 66

transition of electron terminate on
(A) 4th orbit
(B) Sth orbit
(C) 3rd orbit

(D) 2nd orbit

Reverse process of photoelectric effect 67

IS

(A) Pair production

(8) Compton effect

(C) Annihilation of matter

4D) X-rays production

(21]

R TR ORI
siigm & R &7

(A) oo & R vt X

(8) T & fve srwn g

(C) T & FRaEr a1 wem

(D) @ Rww T

va-l &

(A) wm@ wpfa &

(B) = H3 s
(C) @ 3t B

(D) ¥ 3

#¥z gaen e @ & A P &
wewo T @ IR

(A) o e

(B) qrad BN W

(C) &wd 3 R

(0) T B4 W

wrn Rezga mwre A Reda oism 2

(A) gmé1 3dmes

(8) BhqZH

(C) wira & R
(D) a9 Frey

PT.O.
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| st st A 5
B8, The different types of energies assoc)- gs. 0 A Jw
ated with a molecule are ™ {
A

(A) Electronic energy (A) gD

(8) Vibrational energy (B) a A

(C) Rotational energy (c) gt st

(D) & Hefaa

(D) Ali of the mentioned

&
69. During the motion, if the centre of 69. A & dRM, af? o] & T8I

gravity of molecule changes, the mol-

ecule possess
(A) Electronic energy (A) s 3
(B) Rotational energy (8) goit st
(C) Translational energy (C) wFEada 1
(D) Vibrational energy (D) & A
70. The transition zone for Raman spectra /0. 387 Rag1 & fre dammor amy - 2

is

(A) Between vibrational and rotation-
(A) & 3k off w1 ¥ d

al levels
(B) Between electronic levels . (B) Wi =i ¥
(C) Between magnetic levels of nuclei
(D) Between magnetic levels of un- () T W & d
paired electrons (D) wqﬁqaﬁ?r;’h‘ias?;uaﬁumasaa
244\B12021 [22)

https://www.dbrauonline.com

oo surjuoneIgp mmm//:sdny



oo duljuoneIqp mmm,//:sdny

71.

72.

73.

244\B\2021
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Which charge configuration produces a

uniform electric field?

(A) Point Charge

(B) nfinite uniform line charge

(C) uniformly charged infinite plane

(D) uniformly charged spherical shell

The ratio of the amplitude of the mag-

netic fleld to the amplitude of the

electric field for electromagnetic wave

propagation in a vacuum in equal to

(A) Unity

(B) Reciprocal of the speed of light in
vacuum

(C) Speed of light in vacuum

(D) The ratio of magnetic permeabil-
ity to electrical susceptibility in a
vacuum.

If voitage applled on a capacitor Is in-

creased from V to 2V, choose the cor-

rect conclusion.

(A) Q remains the same, C is doubled

(B) Q is doubled, C doubled

(C) Both Q and C remain same

{D) C remains same, Q doubled

gz v

.4
V- o~

n

72

1.

[23)

3 @ e R=a om e fege e
vaqm o< &7

(A) fiig 3mm

(8) = = A snafira 3 s SN
(©) AR *9 ¥ WAfE 3= Fae 89
(D) A ™ 3 3mafRE TR e

Prat 3 g grdta @i & e &

¥ yram A fega 1 & 3™ B 3T

(A) cam

(8) Frafa & yom & iy

(C) Frfa & v &t nfy = Groem

(D) Prfa ¥ Rega wdzeiioar ¥ qedta

TR B |

R Hufy | o T AR v A aEEn

2v 3R R s, 3wt Pt

YA) QR T &, C 2npn A e 2
(B) Q2NN & 3ren &, C 2wy gy en &
©) cRREmE Qapa st

(D) Q¥R C i g v ¥
PTO.
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e 54 g 080 B IR
74 COUIUmDS law 15 only true for point 74 W L w
vty serre
charges whose sizes are wa d
(A) /L
(A) medium
™
(B) very large (8) W&
L]
(C) very small (C) ¥
(D) large (0) ®

75. wsmbmﬂ-""“ﬁm*

75 As per Coulomb's law, the force of at-

traction or repulsion between two point mmmmﬂmﬁﬁmﬁ\
charges is directly proportional to the
g &
(A) product of the magnitude of
charges (A) vl & qRomm @ am

(B) square of the distance between (8) Fﬁfmt{ﬁ!ﬂaﬂ

them

(C) sum of the magnitude of charges (C) 3mrelt & aRoms = on

(D) cube of the distance (0) iR wm o

76. The value of k in coulomb's law de- 76 wthmﬁkmm%mm

pends upon

{A) Medium between two charges (A) 3w = R

(B) distance between charges (B) IRw & #m & g
(C) magnitude of charges (C) A 3mW ¥ & wem
(D) all of above (D) 3w wi

https://www.dbrauonline.com
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77. A device which stores charge Is called

(A) Reststor wn o &1
(8) Inductor (a) WRRD
(C) capacitor (8) ¥
(D) transistor ) :CD; m

78 What 1s the direction of magnetic feid 75 yim o el 7 5 T et e A
intensity vector due to infinite long A Ren 7o 0R?
straight fMlament? A tRam
(A) Radial
(B) Eiliptical (8) Enkqrmerc
(C) Parabolic (C) wane
{D) Circumferential (D) wRdva

* In magnetism, Biot-Savart law 15 well- 79 gusr A At Praw 2 ox we B

9
known as ___ law of current ele- = . Praw ¥ ®q } FIFn I &
ment (A) ooiRR ¥
(A) Ampere's
(B8) Fmud
(8) Coulomb's »
C
(C) Joule's «© =
(D) 3Im ¥
(D) Ohm's
80 What does the constant 'y’ indicate, 80 YWHU TR TRW (B) IR Wb ax B/
while specifying the relation between #om (M) & e wwu B PR @ w
magnetic flux density (B) and magnet- ReRis ' 7§ e
i field intensity (H)?
(A) FN/FTRa
(A) Persistivity
(B) Permittivity (®) 1
C) Permussibility (€) m
(D) Permeability (D) Rmage
2441812021 (28] PT.O.
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T Bt Savart iaw 1n magnetic Reld s
analogous to which law in electric feld?

(A) Gauss law

(B} Faraday law

(C) Coutomb’s law

(D) Ampere law
82. Which of the foliowing cannot be com-
puted using the Biot Savart law?
(A) Magnetic fieid intensity
(B) Magnetic Aux density
— (C) Electric field intensity
S (D) Permeability
E 83. Find the magnetic field of a finite
é current element with 2A current and
o
g height 1/2x is
5 (A) 1
=&
=1 (8) 2
o
g (€) %
=i
(D) Y%

84. Caiculate the magnetic field at a point
on the Centre of the circular conductor
of radius 2m with current 8A.

(A) 1
(8) 2
(C) 3

(D) 4

83.

i
wmammww

hﬁmbiﬂﬂu

(D) TRWA
oA g1 3R Farf 1/2n & WU B Rt

mmmg’lﬂh’d&hmm‘!i

(A) 1

(8) 2

(€) w

(D) %

2m P ™ e @ B se o
Wﬁaiﬁhtm&shﬁgwg‘wzxm
N oF R

(A) 1

(B) 2

(C) 3

(D) 4
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86.

87.

8.

https://www.dbrauonline.com

T CUTTENL Slement of the sotenoi of 85, 100 &) 3 2m HETE TR o s
urms 100, length 2m ang Current 0.5A o.ﬂﬂmﬂmm # 3 6% e

IS given by, ¥ gra fea RN Py

() 100 dx (A) 100 dx

(B) 200 dx (8) 200 dx

(C) 25 dx C) 25 ox

(D) 50 dx (©) 50 8

Find the magnetic feig Intensity atthe  gg 5m yIN I at e 10A O
Centre O of a square of the sides equal awifis A # 308 352 O R qubia B
to 5m and carrying 10A of current. A & am =E|

(A) 1.2 A) 1.2

(8) 1 (8) 1

(C) 1.6 (C) 1.6

(D) 1.8 (D) 1.8

Find the magnetic flux density at a g7 * am 0.5A 3R frzar 100nm & =5 aiiftm
point from a finite current length el- mmmmﬂmﬂgﬂﬁl@ﬂm
ement of current 0.5A and radlus oo ) T AT

100nm. (A) 0
(A) 0 (8) 0.5
(B) 0.5 © 1
(C) 1
) 2 (D) 2 | |
For time varylng currents, the field or 88. WHU & WY XEE U & e o Rt

wave will be

(A) Electrostatic
(B) Magneto static
(C) Electromagnetic

(D) Electrical ¢

244\B\2021

(27]

2

P.T.0.

https://www.dbrauonline.com

oo surjuoneIgp mmm//:sdny



oo duljuoneIgp mmm,//:sdny

https://www.dbrauonline.com

&
(W) MF m ﬁ
> Accorqu to Faraday's law, EMF stands 2 SRR d FER. E
fo
r (A) fega g &
(A) Electromagnetic fieid
o (8) Rega gada T
(B) Electromagnetic force e
c " g!ln?ﬂl
(C) Electromagnetic friction (c) Pwga
() faegn T ¥

(D) Electromotive force
90. Calculate the emf when the flux is giv- 90. EMF

en by 3sin t+5 cost
(A) 3cost-5sint
(B) -3cost+ 5sint
(C) -3sint-5cost

(D) 3cost+ 5sint

(A) 3cgst-55|ﬂl'
(B) -3cost+Ssint
(C) -3sint-5cost

(D) 3cost + Ssint

91. The point form of Ampere law is given 91, geiiax Pram a1 firg wa Rews grar R man

by https://www.dbrauonline.com ({

(A) Curl (B)=]
(B) Curl (D)=)
(C) Curl (V)=I
(D) Curl (H)=]
92. The charge build up in

due to which quantity?

(A) Conduction current

(B) Displacement current

(A) Curl (B)=I
(8) Curl (D)=)
(C) Curl (V)=I
(D) Curl (H)=)

the capacitor is 92, FenRa ¥ 3w & Prtioy s A3 & RO
B ¥?

(A) TF ORI &R

(B) fvam= um g

(C) Convection current

(D) Direct current

244\B\2021

(C) W URT gR

(D) W&t oy gy
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93 In metals which of the following equa- 93 ORPH % P A A M2 s

tion will hold good? wh am?
(A) Curl(H)=) (A) Curl(H)=]
(B) Curl())=dD/at (8) Curi(})=dD/at
(C) Curl(H)=D (C) Curi(H)=D
(D) Curl(}))=dB/dt (D) Curi())=dB/dt

' e F
94. ldentify which of the following 1s the %4 P @ 3 @3 qedia T

unit of magnetic flux density? g &>

(A) Weber (A) ¥R

(B) Weber/m (B) FWAER

(C) Tesla () T®n

(D) Weber ' (D) W

95. The divergence of curl willbe __ 95 o & e - &

(A) 1 (A) 1

(8) -1 (8) -1

(C) ~ (C) ~

(D) 0 (0) 0

96. Find the force experienced by an elec- 9. & aews & fagga grada an g1 fvm

tromagnetic wave in a conductor? @ B I R Fen 32
(A) Electrostatic force (A) it Regm w
(B) Magneto static force (8) Wt e am
(C) Electro motive force (€) ﬁzﬂ“ TRS &

(D) RS 7@

{D) Lorentz force
2441812021 (29]
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17,

Stance only Is:
(A) Hysteresis

(8) Susceptibility

(C) Directional property

(D) Attracting magnetic substances

98. Which of the following is true?

(A) Diamagnetism is temperature de-
pendent
(B) Para magnetism is temperature
dependent
(C) Para magnetism is temperature
independent
(D) None of these
99. Which magnetic have negative sus-
ceptibility?
(A) Diamagnetic materials
(B) Paramagnetic materials
(C) Ferromagnetic materials
(D) All of the above
100. Electromagnetic waves are produced
by
(A) A static charge
(B) An accelerated charge
{C) A moving charge

(D) Charged particles

The process by ferromagnetic sub-

[30]

97

100.

" wswﬂ?‘!l

() st e ¢ o &
(8) g A W Fnfe 2

(C) g A PR 7@ &

(D) & A 2§

f5u quda st ¥ o WdET Meven
ah &

(A) witreefra qand

(B) g qured

(C) g wamd

(D) IR |

(A) foar 3w g™

(8) =Ra 3mw zr
(C) nferder 3miw gy
(D) 3mafirr oo gy
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